



 
P(X=xi)

P(X=xi)	
2	3	4	5	6	7	8	9	10	11	12	2.7777777777777776E-2	5.5555555555555552E-2	8.3333333333333329E-2	0.1111111111111111	0.1388888888888889	0.16666666666666666	0.1388888888888889	0.1111111111111111	8.3333333333333329E-2	5.5555555555555552E-2	2.7777777777777776E-2	


F(X=xi)

[WERT]

2.7777777777777776E-2	8.3333333333333329E-2	0.16666666666666666	0.27777777777777779	0.41666666666666669	0.58333333333333337	0.72222222222222232	0.83333333333333348	0.91666666666666685	0.97222222222222243	1.0000000000000002	


